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Note : Four possible answers A, B, C and D to each question are given. The choice which you think is correct,
fill that circle in front of that question with Marker or Pen ink in the answer-book. Cutting or filling
two or more circles will result in zero mark in that question.
D ¢ B A Questions / = iir s
& Pany Ay vy The 1:‘;Wh../l::i.;£,u¢x iyLviw -
vy v X fourth proportional w of x:yiv:iw is :
s 55 4y i s # | Adatainthe rT..t'_M :.Iru’.:f S8 |
Grouped data | Histogram Range Ung‘;ir:tgped form of frequency distribution is called :
un:f_'t..».—_.}':_bg,:l,;ugngum}w:a.fu.{r 3
. . " . The length of a chord K si$Y
75 60 45 30 and the radial segment of a circle are
congruent, the central angle made by
the chord will be : _
& sz . e : .g.t‘z}fc.b@f;fzafb 4
* | » s Through how many non-collinear points
Four Three [wo One can a circle pass :
4 7 l ;‘{_,-".Ys'u’ 'Ja.... 7x2 - x+4= Oa,fsl/B‘(l;l 5
— — —~ - If a, P are the roots of D esizof
7 4 7 7 2 e
7x* —x+4=0 then af is :
3600 630 360" 1200’ 20° = — — — 6
7 JV e W :‘L.t'ﬂ{'(b;"' i |7
Chord Tangent Segment Boundary | Thecirc umference of a circle is called :
a+ a- 1 | I 1 1 }8
—[): -~—’8 —1———— -1— — + — isequal to : I et e
aff aff a B a a f a
. s LS, -9
- ; s D, |l s B2 I o e v
s Al B, o Gikdaa Fazbiieid
Third . In a proportiona:b::c:d,aandd
; Extremes | Fourth proportional Means
proportional are called :
2 _ ax® =bx ax® +bx+c=0 bx +c =0, 10
ax”=0,a#0 ’ ? :c..fdjgvu(::.lsi/o’.m:
a#0 a#0 b#0 Standard form of quadratic equation is
e Bl = =i : .;_m;uu.fn:.';/ S bl |11
Place Origin Ratio Value Mean is affected by change in ---- @
\3i2 B $a o il I
; i Tangents drawn at the ends of diameter
Parallel Collinear Non parallel Perpendicular | of a circle are --- to each other :
: oot B e | 13
{@.1a}; {a} {4} ¢ .?Lgurx;gh/_ﬂ:db
Power set of an empty set IS :
i . .L..uj_b,‘}:_.,.?»:ﬁb};u{u&{;?u:gﬂ/ 14
i e { Fj . 3
I ) bV sl 2l A fraction in which the a.dﬁ:"/ vl
mproper ; , ; . ;
feacti Identity Equation Proper fraction | degree of the numerator 1s greater or equal
raction to the degree of denominator is called :
(4} & B & e trssA N BivAcB /1|1

If AcB then A N\ Bisequalto:
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(PART -1 Jst2 )
2 ayz B L i (6)gdS 2
_é«_ﬁ’/‘?[f:«bl-‘&n” (0

12 2. Write short answers to any SIX (6) questions :
(1) Define quadratic equation.

(11) Write in standard form : Lk ; _Eo2 4=0 -éuf(}éd:yv (i)
x— X
1V 9
(iii) Solve - (2x -_5] . (i)
(iv) Find discriminant : 2x2 - 7x+1=0 :ér:]” 37 (V)

(1-o-a?) EEered (V)
3x?+7x-11=0 : ép‘*‘.,ﬁd"b»u:ﬂ’f»ﬁé;)’f@bu (vi)
(vi) Without solving, find the sum and the product of the roots of equation : 3x2 +7x-11=0
_&fr;“" a Sussls 45 sla+3:7+a S (vid)
(vil) Findag,iftheratios a+3:7+a and 4:5 are equal.

(v) Evaluate :

nb=8 L& S awb=4 _2a=3 13100‘5;}5 (viii)

- 1
(vill) g« —

32 and a=3 when b=4,finda when 5=8

(ix)
12 3.
6))

Find the third proportional to :

Write short answers to any SIX (6) questions :

Define a rational fraction.

a ,3a2

_é [':I"’..:./I:Sl//.? (1x)
- ELO‘.:»LJ:‘!/# L ey (6){:-&)/ o
Z/ A0 O

(i) Convert the following improper fraction S S ol S A St ()
into proper fraction : '
bt 5% =6
2x* —x-1

(111

(iv)
)

(vi)
(vii)

“ZEek” AUB TB={358} « 4={2,3,57} 1 (i

If 4={2,3,5,7} , B={3,5,8} thenfind AUB

e btEnd y xydny=1{-2,1,2}.1 Gv)
If y={-2,1,2} then make two binary relations for y x y.

Find a and b, if (a—4,b-2)=(2,1)
Define a subset and give one example.
Define standard deviation.

(a-4,6-2)=2,1) Ji&e# bia )

“EaedimgEy Jlerd (i)
By S A A (vid)

-.d‘-)iJH!’JELSJ?;JJ}:-Z‘:I‘}L”L/)’J.&G!#’ 2,4,8 =tsx (viid)

(viii) Find the geometric mean of the observations 2, 4, 8 by using basic formula.
(ix) Write two properties of arithmetic mean. L feler” udlnl(,}l) (ix)

12 4.
¢))
(i1)

Write short answers to any SIX (6) questions :

Define coterminal angles.

Convert %1[ into degrees.

(Zﬂ.la;} )

2 @ epiz B L iy (6)galf 4
g fSupuF 2 @)
EhrersS M”T” (ii)




) HE-1-23

(2)
4. (i) Findrwhen £=52cm,0=45° 0=45 sf=52cm2Ep =i GiD -4
(iv) Prove that : (1-sin®)(1 +sin@)=cos> Sz (V)
(V) Define obtuse angle. ZEy U(:f:l.?.? 2 (V)
(vi)" Define the length of the tangent. g JJI,JJJV (v1)
(vii) Define circumference of a circle.- Sy Pl Lt (viD)
(viii) Define an arc of a circle. ..ﬁ:f - /J Sud Jufb (viin)

(ix) Divide an arc of any length into _2‘:’.’,‘-?% Lﬁur‘”(i{u.fu;"_gd/(jy)u’( (ix)
two equal parts.

(PART I #5s.2)

Note : Attempt THREE questions in all. -<($il 9 /:‘Ulr'dg ﬁa;!ﬁé:&ﬂlrcf u‘ rd
But question No.9 is Compulsory.

4 5. (a) Solve the equation : 2t ~11x24+5=0 ) 2‘:’1}" fenle (D) 5
4 (b) Prove that : 2= =(x = y)(x-y)(x—ay) e )
4 6. (a) Find x in the proportion : :ép'-vmex St (D) 6
c—
p2+pq+q"':x::-‘u 9 1(’;)~—q‘)2
P+q
RCC I P |
4 (b) Resolve into partial fractions : — 2+— 2{;}3’: Sz (L)
(x=1)"(x—2)
4 B={1,47 10 A-a b AT 12,3, 4,——10}.S1 (D) 7
A-B=AnB St EF
7. (@) HU={1,2,3,4, - 10},A={1,3,5,7,9}and B={1,4,7,10}
then verify A-B=A4NB
4 10,8,9,7,5,12,8,6,8,2 : &k Fr ()
(b) Calculate the variance for the data : 10,8,9,7,5,12,8,6,8,2
4 8. (a) Provethat : secd —cos@ = tan @ siné ek (D) 8

~URE I3 SIS CA s BC « AB L 1Bzt i1 ¥AABC ()
4 (b) Inscribe a circle in a triangle ABC with :

|AB]=5cm , IBC‘zScm , [CA‘=3cm

8 -U32'_.:'f(j=lf"’(7 VUt i Ssle e S p 2003l el 15 S Zhet 9
9. Prove that two chords of a circle which are equidistant from the centre, are congruent.
OR L

Prove that the opposite -t sesi§ F¥ PN P g gd:bea.fboj St
angles of any quadrilateral inscribed in a circle are supplementary.
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Note : Four possible answers A, B, C and D to each question are given. The choice which you think is correct,
fill that circle in front of that question with Marker or Pen ink in the answer-book. Cutting or filling
two or more circles will result in zero mark in that question.

D C B A Questions / = Uiy B
aJt ac = b* xa:b=b:cu_..~’1:'-"f)/ Il
o lﬂ?;;‘ I/.,: |33 .I-:‘:..l;‘l,k"/..../l::"---_bc)i,/nic yrll
Means Fourth Third Second In cont1121ued proportiona:b=h:c,
. ac =b" b is said to be --- proportional
between « andc:
o witdq ” 2
2 eSS, S bl ot
. . The spread or scatterness of observations
Mode Central tendency | Dispersion Average in a data set is called :
S0 36 L1e 40° iSSP 3 L | 3
80° 60° 40° 20° An arc subtends a central (e U9ewue sl
angle of 40° then the correspon(fing chord
will subtend a central angle of :
s ot P N : «ic.rxfc_bﬁi&?r‘zﬁ‘:gajb 4
® = Through how many non-collinear points,
Four Three Two One can a circle pass :
axz +hx+c=0, ax2 =bx, o bx+e=0, Zc.ﬁdzhf({.bl:t/&uu ;
ax*=0,a=0 T I3 p N
a#0 a#0 b=0 Standard form of quadratic equation is :
1 i 6
cosf 2 7cos2 6 B i : e
sec” @ 2¢cos” 6 2sec” @ Mond  1—sind
Zgﬂé?gJVJ]}géu};l:é_ﬁz-ffu 7
4 3 2 1 How many common tangents can be
drawn for two touching circles :
u v « v
u=v>k u=wk u =vk? u = wk? If 2=Y =k then : Jni=Y =k /I b
V_w vV w
— b — . -
i W% a+b=x+y . L If :cs..c:.-f)dlaliﬂa:b=x:yfl !
% Y % & b 7 x 7 a:b=x:y ,then alternendo property is :
2 Pzl — 1|10
—_ —_— 2 1,__._(0,__w2 _'1 w '*(!)2 "'1’_ a)’_a) .L‘g % IJJ?
,~e,0 s Cube roots of — | are :
% ol 1E = = D ebmnihe i/ &bl | 1
Place Origin Ratio Value Mean is affected by change in ---- :
U’:,f % Y b ;;.wédy‘j:;azéba.‘jiidsgiﬁju_{l 12
. wo tangents drawn to a circle ¥ -
Triple Double Equal Half from a point outside it are of---- in length :
:q:.dn:!ﬂJu&lL ..".-_*:'Aj;i{ 1, 2, 3 } 13
9 8 6 4 The number of elements in power set of
{1,2,31}is :
/"-._-?.4!/:,;' 21&;‘ Jlf /-—-4’13 x3 +1 s x3 +1 . o
An improper P 2 LI il
fraction A constant term | An identity | A proper fraction | (x-1)(x+2) (x—1)(x+2)
Point (— 1, 4) lies in the quadrant :
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( PART -1 J:F.-a? )
12 2. Write short answers to any SIX (6) questions g 3 ...4,1? AL ey (6){;6)’ .

(1) Solve by factorization : X -11x=152 - A7 SR C))
(ii) Solve the equation using quadratic formula : 2L f = Je LY G aile (i)
6x” ~3-7x=0 i
(ii1) Define radical equation. Ey e il
(iv)  Find the discriminant of the given quadratic equation:  : ZE 3 HKmlslaGsns (iv)
. 9x? —30x+25= 0
(v) Write the quadrat:lc equation havingroots :  — 2,3 2l ahleGundh s (V)

(2 + Tx = 1)+(x+1) _aér}vdLJ,IJJ‘b;ya_/Jw:fﬂwf/ (vi)

(vi) Use synthetic division to find the quotient and the remainder when (x? + 7x — 1)+ (x+1)

(vii) Find a third proportional to : 47 30k é.(:j"’-.—flﬁf,/:- (vii)
(vii}) Define proportion. Lyl (viid)
(ix) Find the fourth proportional to - 8,7,6 &k Ay (iX)

12 3. Write short answers to any SIX (6) questions : : 2 =y AL sy (6);{:.13:( 3

(i) Convert the improper fraction into proper fraction : @ ZE fo S bl St (1)

6x° +5x> -6
25" — - I
(i) Define improper fraction. EW S g (i)

~&r 2l A-B IB=W s 4=N i (ii)
(iii) If A=N and B=Wthen find the value of A-B

P VX Y4812, ~— 54} X ={2,46,———-20} J1 (iv)
Gv) If X ={2,4,6,——-~20} and ¥ ={4,8,12,——,24}, then find ¥ - X
(V) If A={0,2,4} thenfind A x A ..Z:r.»L"AxA}" A= {0,2,4}/1 (v)

-éf}l”@wégﬁ s LxM $nM= {d,e,f,g} sL={a,b,c }/(I (vi)
(vi) IfL={a,b,c} and M= {d,e, f, g}, then find two binary relations in L x M
(vil) Define mode. E Gk (vid)

12,14,17,20,24,29,35,45 e bailoe 3 borin, (viii)
(viii) Find the arithmetic mean by direct method 12, 14, 17, 20, 24, 29, 35, 45

(ix)  For the following data, find the harmonic mean : ép‘”&zsi‘.ﬂl’ﬁ%b’g}_‘je;ﬂ (ix)
(X [12]5 [8 T4 ]

12 4. Write short answen:j any SIX (6) questions : : 2 iz A L iy (6)4’;&)/ 4

(1) How many minutes aré in two right angles? P e zufugsiﬂ!:—?l?» 6)]
(i) Find ‘r*, when £ =52cm , 9=45° 0=45° < =52em L&+ 28 e (i)

(2’0}3 )

¥




L

@ LR

4. (iii) Convert 225° into radian. S grid 2250 (i) -4
(iv)  Verify that : S;E:g +cosf =secl D St (iv)
(V)" Define zero dimension. Ey e W)
(vi) Define tangent to a circle. ) Suvlaity i)
(vi) Define circumference of a circle. Byl s (viD
(viil) Define perimeter. Sy A (viid
(ix) The length of the side of a ‘-‘.g..kﬁbbl&)’!_‘;(‘ SJUJC}" éu} H’" L (x)

regular pentagon is 5 cm. What is its perimeter?

(PART I f55.2)

Note : Attempt THREE questions in all. <9 /} Jlr's:}g .é’eaylﬁﬁaﬂlrvf J g
But question No.9 is Compulsory.
4 5. (@) Solve the equation using quadratic formula : : =S e Jer Ly higimden- (D) .5
x+2 4-x 1

x-1 2% 3

4 (b) Prove that : D S ()
% +y3-} z° ~3xyz=(x+y+z)(x+@y+ mzz}(x+(02y +wz)
x §—3 v +3 - 3 Lo
4 o S ol (BT SRS 8y F e (D) 6
pP—q sh-3m sy 3G

6. (a) Using theorem of componendo-dividendo , find the value of

S$73p  s+34 o T PHY

§+3p 53¢ p—q
L, g i
4 (b) Resolve into partial fractions : -Ej—'f---;-sx—-——? ’éf S8z ()
3x"-2x -1
4 B={1,47,10} #A={1,3,57,9} U=1{1,2,3,4-,10} 1 (H) .7

(B-A) =B UASZE =k
7. (@ IfU={1,2,3,4,--—,10},A={1,3,5,7,9}and B={1,4,7,10},
then prove that (B— 4) =B'u 4
4 (b) Find the standard deviation "S" : Eif(:h" "S" A A (&)
9,3,8,8,9,89,18

8. (a) Verify the identity : sin® 0 = sin@ —sinHcos’ & el (D) .8
4 ot 5 QU 1L Bz tu/tni ABC 2l iongis (o)
(b) Inscribe a circle in a equilateral triangle ABC with each side of length 5 cm.
8 Lundedi$siae S poiunt U"‘}'Juﬁd_.;l:/!fé.:at‘ 9
9. Prove that if two chords of a circle are congruent then they will be equidistant from
the centre.
OR 1

e tnllisadstio Lo d S5SN8 psdcs 2 U ¥ Lo sing SE e
Prove that the measure of a centrai angle of a minor arc of a circle is double that
of the angle subtended by the gﬁrresponding major arc.
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